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Final Exam. of Ph ical and Ino ic Chemis

Section I (Inoreanic Chemistry )
( 25 Marks)

Answer the following questions

1.a) Explain the reasons for Five only from the following:

i The unexpected high boiling point of H2O.

ii .NO2 is an acidic oxide

iii.SFs is known but OFo is not

iv. Concentrated solution of HF acid is not kept in glass bottle.

v. Cesium ions conduct electricity more than lithium ions..

vi.NH: is a poisonous gas .

b) How you can prepare three only from the following:
superphosphate, water gas, NH3, HI,.

c) in each pairs of acids, state which is stronger and why?
HF and HBr, HCIO2 and HIOz, HzSO+ and H2SO3.

2.a) Choose the correct answer and comment:

i) In which species does nitrogen exhibit its highest oxidation state

Q'{H3 ,NO2-,Nz) .

ii)Which one of the following species contains an even number of

electrons: Q.{O2,NHa*,NO)

iii) The species which contains diamagnetic properties is (Ir1O, Oz, Nz)

b)Give three examples of Freon's and how do they damage the
environment?

c)What are the types of hardness of water ?How we can remove this
problem?

. -,+-.$5

See the Next Page



Section JJ (Physical Chemistry: C-250, (Marks: 25)
Answer the following questions

D 1) If the system absorbs heat, er.and.LH#o will be Choose the correct
answer:

a) I{egative, b) Positive, c)m
2) if LH.and.Lq are negative the reaction will be:

a) endothermic b) exothermic, c) revbersible d) irreversible
3) For irreversible Isothermal processing of an ideal gas:

AG#o=.... a ) >o.oo b) <o.oo c) M
4) AE =.... a) e- H , b) e-w , c) nRT, d) nRdr
5) LH = LE +..... a) AF, b) M , c) LW , d) aCo

D complete the following:

1) lnK =.-*(' )+......... R 'T'
2) under isothermal expansion of ideal gas, AS=....

(Mark: 5)

(tvtartc_3)

-d(LnK \3) -----:---:!. -..... 1),dT
o+)

Hz E2

s) !ru = lae +.... +......
Ht El

III -a) Show, how can you calculate the work done ( w ) in each operation,
maximum work (W^u* ), and efficiency (ry) during Carnot cycle (Mart<:{)
b) calculate the efficien cy q(%) atz

N) Think a hypothetical reaction between gases: How you can determine

the relation between AG# .,..LGoo ,,.and..K"n Otark:_3)

\) When gaseous ozone (Or) is formed from molecular oxygenby rh*_ 
*_

reaction: )Or*--rO, What is K,,

if : AG#0 .=39.lKcctl.mol ,n = 1.98..a1 lmol.deg at: 300, 400, and 500 K

YD ) The equilibrium constants (K.)) for the reaction: 2HIG)*J-Uus)* Ir(r)

are: Kpt =2.18x10-2 at Tt = 764K and Kpz =1.64x10-2

Find: 1) a,H#o,...Lcrnor...and....acru' forthe reaction. (Msrk-3)

Good Luck

Exams: 1) Prof Dr. Amna S A Zidan, 2) Prof, Dr. Seddique M Ahmed

at T, = 667K

Tr ft) 0.0 45 60 100 200 300
T, ft) 300 50 40 80 400 0"0
rt%)



Assiut University
Faculty of Science

Chemistry Department
Physical Chemistry Examination (C-2301for Second Level Students

Jan:2020
Time:3 hrs

Answer the following questions;
1) Answer OIly Thregfrom the following: t16.5 Marks)
a) Derive Kinetic equation for determination the specific rate constant for the following

reactions: A+B ..tr? *) products
b) Discuss the collision theory of Bimolecular reaction.
c) Discuss the half change method for determining the order of reaction.
dl At 378.5 C' the half life period for the first order thermal decomposition of ethylene

oxide is 363 min. and the energy of activation of the reaction is 52,000 caflmol. From
these date estimate the time required for ethylene oxide to be 75Yo decomposed at
450C"(R=1.987)

2) Answer Otly Seven from the following: t33.5 Marks|
a) A chemist compressed an ideal gas against a constant external pressure of 380mmHg,

the volume changes from 200 to 50 liters. Deterrnine the internal energy change that
took place knowing that 1.7K cal of heat have been evolved.

b) Discuss the ternperature dependence of entropy.
c) At 750mmlH,g,780gm of benzene is vaporized at its boiling point of 80C'

Calculate: i) W,", , ii) q , iii)AH , iv)AE, the heat of condensation is -7.6 cal/ mol,
M.wt of benzene=78gm/mol.

d) AH1u, of formic acid=L590ca/mol at its melting point 9.gC' and
AHconu= -5600caUmol at its boiling point 90C'. Calculate the change.in entropy that
takes place when 3 rnole of solid formic is melted at its melting point and changed to
vapor at its boiling point, all under constant pressure of 1 atm , C, of formic acid=19.6
callmol-deg.

e) Phosgene is formed at25C" according to: CO14 + Cl2H 4**; COCl21g1. Calculate AG' and
the equilibrium constant for this reaction, knowing that:
AG.CO=-32.8 K caUmol , AGoClr=O, AG'COCI2=-56.3K caUmol and R=1.98 cal/r,nol-K.

f) Calculate the equilibrium constant at 28Co for the reaction: S*372A, .<-*sO3 , the heat
of formation of SOs at 25C' is -94.5K cal/mol and the standard moler entropy change
for S , 02 , SO3 are7.62 , 49.A and 61.24 cal/mol-K , respectively.

g) Determine the equilibrium constant for the following reaction at 25C':
Mg'* + Sn(r) *-*+ Mgro + Sn2o knowing that the cell potential ,

AEo , is equal to -2.23V and Faraday=23.06 cal/volt.
h) For the vaporization process: Hzotrt <** Hzots, latm) AH=9590 cal/mole and

AS=25.7 callmol-deg, prove that the normal boiling point of water is 100C'.

Examiners:Prof.Dr.Y.Temerk ; Prof.Dr.A.El-Awad



Chemistry Department January 2019
Faculty of Science Time: 3 hours
Assiut University

Organic Chemistry Examination for Second Level Students
(Aromatic and Heterocyclic Chemistry 212 C I

Section A (Aromatic Gompounds (25 Points)

Write the name of all compounds

Answer the following questions:

l-A- What mining b)t: (give examples\:---------------------- ( 5 marks\

Keto & Enol form, Phenone, Anhydride, Hydrazone,Mezo, Xylene.

B- Comperative between the following pairs

1- Electophilic & Nucluophilic substitution.

2- Amide & Emide.
2) A-Give examples-for the-following reactions (ZLree odD--Q marlcs):
1- Condensation reaction. 2- Oxidxion & Reduction reaction
3- Rearrangment reaction. 4- Polymerizationreaction.
B- Give one method to oreoare the following compounds Two only;

Gamexane* Salicylic acid. * Glycozal

3) A- How do you convert: (Two only)---------- (S'marks):
1- Acetylene ---) Saccarine. 2- Aniline ---+ Benzonitrile
3- Benzene -+ m-nitro-nitrobenzene

4)- A- complete the-following equations (Three only)-------- (! marks)
1- Phthalic anhydri de + 2. phenole +HzSO+ ---+ a + NaOH -+ b
2-Aniline +CH3COCI --) a *Brz---+ b +HzSO+ 70%=+ c * d
3-Benzoicacid +SOClz --+a + b * c
4- Toluen" + Clz ( sun light ) ---+

5 - A- Write the name qf the.followinq comoounds ......,,.(5 marks\

1) 2)

4)

3)

s) 6)

B- Draw the structural.formula qf the-following comoounds;
Methyl salcylate *

2,6-naphthoquinone *
p- Bromo-acetanilide + tli) t'

Ter. butylchloride +-



Section B (Heterocvclic Chemistrv)
Answer the following questions
1- Draw the structural formulae of Three

heterocycles:

i- 2-Bromomethyl-3-pyrrole.

iii- 2-Acetyl-3-aminoquinoline

(25 points)

only of the following
(5 points)

ii- 2,3-Dimethylquioxaline.

iv- 2-Phenyl-1,3,Soxadiazole.

2 -Provide the missing products and reagents for the following (5 points)
transformations:

-Li
,_ A Me:SnCl .,)' \n/ -78oc

?_-_-_>
Pdcl2Gh3P)2

THF/ rt

ONa

."ro
ol

ii- ,,.4.r, -H- ( Xr#ffi
H3c' - o\-o

Y ^ cooEt| + 58+ | morpholtnetr. o

iii- Meo- \a* EroH

3- Write on the following, give examples
i- Vilsmeir reaction. ii- Suzuki coupling

4- Suggest detailed mechanism for the following reacti

(5 points)

(5 points)

5- Show by equations

a- Ranitidine

.;., Me tEt r-1 Et. .P1" /fu
(2.. rLr" AcoH/eooc. (i{ }--..- - \-(\,"
- -N_N - \N,,/-Me I gtHH

g0% trace

how you synthesize the following heterocycle
(5 Points)

b- Vitamin BG (Pyridoxine)
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Assiut University

Faculty of Science

Chemistry Department

JanuTry, 2OZO

Time:2hr.

Final Examination for Appried rndustriar ct,".,irtry stra"r,t,
(Clren'l 202C, Organ,ic Chemistry)

(25 Marks)

1) a) complete four onrv of the fortowing equations: (9 Marks)

*oH

Na Oli

b) starting with benzene outline the syntheses of three onlv of the
following compounds: (6 Marks)

i) Phenol ii) Benzoic acid iii) Acetophenon

iv) m-tsromo benzenesulfonic acid

2) a) Predict the expected product would be obtained of three onlv of
the fol lowing reactions: (6 Marks)

i) tsenzene with CH3C!/A|C|3 ii) Benzoic acid with Soda linne

iii) Acetophenone with Zn(H g)/ Hcl v) Toluene with 3Br2 
:

b) i) which is more basic: aniline or methyl amine ? (2Marks)

ii) which is more acidic: phenor or 2,4,6-trinitrophenor ? (2Marks)

# esw)r '*$J-bi



(25 Marks)
u-

ot the fol
a)

Furan - quinofi (Z niarks)
benzoth iazo! - ;;#l:;j"''idine - i'o*u.-ot"

tf, 
(6 Marks)

ii) 1,3-Azo,", ,,"u 
not aromatic heterotytt*l

iiit 1,2- Azo,es j;"ff:T:Hil:I;::: 
;j:[rop 

h i, ic atta ck

iv) rsoxazore and isothiazotu ,r" basic heterocycres.

;l ::ilff ;::,;;;: :ff*r .ing r,,"r,.,,...," .,n*
vii) Ttriophene is stable to Lewis acids.

2- al
ns and mechanisms t

, rrvlJt tEii) Robinson_Gabril synthesis of oxazole.

b)

i)Furan +HcHo/rlrvrcffi ; (6 Marks)

l1?:1. llethyrthiophene + EtBr (Arct3)
rri,l lsoxazole + Br, _---___ )
iii)

iv) Pyridine + HzOz (AcOH) 
?v) 2-Methylquinoline + CHgBr/KNH2

vi) lmidazole + HNO3/H2SO4 _________ 
?vii) Thiophene + CH:COCI (SnCla) 

?

7

_ Good Luck
Prof. Ali Ahmed Abdel Hafez



Assiut University
Faculty of science
Chemistry Departement

Januarv 202j
Time2 hours

Final examination in Qre4lle shexullty z.ll0 for non chennistry students(the chemistry
of aliphatic compounds and some selected afomatic compounds)

Answer the following questions------------:= 50 marks
Oueslignl Answer fyg only of the following- 20 marks
a-Complete the following reaetions

2Na/ether 2 8rZ
cH2-=_-cH----cH2B

b- Hydration of Vinyl acetylene using dil H2SO4iHgSO4 and give the type of the reaction

c-Predict the products of the following reactions
CHrBr, 1-KOH

2 NaCH(COOECI2

ii-HCl/heat
d-By equations convert Calcium adipate to 1.,2 dibromocyclopentane
e-Acid hydrolysis of CH3CO(CHPh)COOEt) and name the product
f- Reaction of ethyl acetoacetate(EAA) with PhNHNH2 and give a mechanism

Ouqstion 2 Answer five only of the foilowing-..------- 15 marks
a-Neopentyl bromide is very unreactive in SN2 reactions .Explain
b-Assign the major product of the following reaction and suggest a mechanism

cHscH2cHr6r 
tQ'*o'u KO*H 

- ,
c-Give the structure and type of the reaction of l-butene with HCI
d-Predict the product of the following reaction and propose a mechanism

HrO
(cH3)3c-ct

e-By equations prepare trinitrobenzene(TNB) from benzene

f4{itrobenzene did not undergo fridel-crafts reactions .Give the reason

Ouesllqn 3 Answer fuonly of the following* ----- 15 marks...
a-Predict the rnajor product of the following reactions

2

n,, (cH3c0)2o/Alcl3 HNO3/H2SO4
Lnlorohenzene .t+ ?-

b-Reaction of toluene with CH3COCVAICI3 and name the reaction
c-Complete the following sequence of reactions

NaNO2/H2S04 CuCL KOH/heat

0-Nitroaniline

d-Prepare p-bromoaniline from benzene
e- CompleG the following reactions

BrrlFeBr, dilHCl/heat
p-Tolune sulfonic acid

f-Sy-nthesisof rn-aminobenzaldehydefrombenzene.

?

t\

COOD LUCK \ -..A
Prof.Dr.Sh.M.Radwan gl$
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Assiut University
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Chemistry Department
Final Exam in Quantitative Analytical Chemistry (C-2401

Dec:2019
Time:2 hrs

Answer Four Questions on[y:- l1-z.s Marks for each question]
1)a- Define the following:- i- Electrode potential ii- Redox indlcators

b- Equal volumes of 0.1 M Fe2* and 0.2M Cean are mixed. What is the potential in the
sol ution, vs. N. H. E. ? { Eo Fe3*,t e2* =O.7TV ; EoCe4n,Ce3*=1. 6LV)

c* Exactly 33.31 ml of KMnOa solution were required to titrate a O.1278 g sample of
primary standard Na2c2oa. what is the molarity of KMnoa solution?

2)a- Discuss the limitations of Volhard method .

b- What pH is required to just precipitate iron{lll) hydroxide (K,r=4.9x10'38} from a 0.10M
FeCl3 solution?

c^ A divalent metal ion reacts with a ligand to form a L:1 complex, ML'*, (K1=1.Qx1981.

Calculate the pM in a solution obtained by mixing equal volumes of 0.2M M2* and O.2M
ligand.

3)a- Define: i- Chelating agent ii- Chelatometric titration
b- Express the titer of a 0"10M EDTA solution in mg Bao/ml.
c- Distinguish between co-precipitation and post- precipitation.
d- calculate the weight of Ba and the weight of cl present in 25.0g Bacl2.

4!a- Explain the difference between systematic and random errors.
b- A soda ash sample is analyzed by titration with standard HCI. The analysis is performed

in triplicate with the following results 93.s0, 93.58 and 93.43% NazCog. within what
range are you 95% confident that the true value lies? (t=4.303)

c- A buffer solution is 0.2M in acetic acid and in sodium acetate. Calculate the change in
pH upon adding 10ml of 0.10M sodium hydroxide to 100m1 of this solution(pKa=4.76)

5)a- Write briefly on: Bronsted acld-base theory.
b- Calculate the pH of a solution obtained by reacting 50ml each of 0.1M NHaOH and

0.1M HCI (K6=l.8xLg's, K*=f.Qx10-14)
c- Tris (hydroxymethyl) amino methane (Tris) is a weak base used to prepare buffers in

biochemistry. What weight of Tris must be taken with 100m1 of 0.5M HCI to prepare 1.1

of a pH 7.4 buffer solution (For Tris M.wt =121.!35, pKu=S.g2)

(At.wts: C=12 , O=16 , Na=23 , Cl=35.5 , Ba=132.341

Good Luck

Examiners: Prof.Dr.!-lassan Sedaira ; Prof.Dr.Elham Y.Hashem



Assiut University
Faculty of Scicnce
Chemistrv Department

Dec 2019
Time:'2 Hours.

lnorganic Chemistry (1) ( C - 220 )
Finat Exarnination for 2'd year students

First semester 2019 - 2020

Agswer thc following questig$s : (50 Marks)
I)Write a short account on: (I0 Marks)

1- Clathrate compounds formed by some Nobel gases.

2- The composition and production of both water gas and producer gas.

3- Comparison betrveen diamond and graphite regarding the structure
and electrical conductivity.

4- Diagonal relationships in periodic table.

II) Answcr only louf of the following :

1) Complctc the following staments: (10 Marks)
a- CO is toxic for human beings because.
b- Factors influencing complex formation are 1.....2.....3.....
c- Permanent hardness is due 1o.."..... and can be removed by........
d- HF cannot be handled in glass vessels due to

2) Give reason (s) for the following: (10 Marks)
a- Cesium salts conduct electricity rnore than Lithiurn salts.

b- In pure water beryllium salts are acidie.
c- Carbdn is lirnited to form a maximurn of four covalent bonds.

d- Perchloric acid is more acidic than hybochlorous acid.
3) Completc thc following equations: (10 Marks)

a- LirN+ 3FI2O -*, ........+.
b- NaFICO:*.......+.... "..+H2O
c- Fr+ 3FIzO ---) ......+......
d- Al+ NaOH+ FIzO *.......

4) Using Chcmical equations clarify the following chemical
proccsses, (10 Marks)
a- Freons causes damage to the ozone layer .

b- lloric acid acts as strong monobasic acid in presence of glycerol.
c- Write the names, symbols, electronic configuration and

oxidation states of group IV Elements.
5) Give a mcthod for obtaining the following : (10 Marks)

lJrea - XFr - Porlland Cement * Iloron sequioxide.

"Good Luck t'

Examiners
Prof. Dr Ahmed Hassan Othman

Pof. I)r Dina M. Fouad



Chemistry Department

Faculty of Science

Assiut university

December 2019

Time: 2 h

Final examination of the second level students in "lnorganic chemistry" course,207C
(lndustrial program)

Answer the following

t. Give reasons for SEVEN ONLY of the following (14 Marks)

i) Solutions of Be salts are acidic (give an equation)

ii) Electrical conductance of molten l2 .

iii) Chemistry of B is different from that of other group lll elenrents

iv) KzCrzOt is used as a primary standard in volumetric analysis.

v) Lanthanide and actinide contractions.

vi) La(OH)3 is more basic than Lu(OH)3.

vii) ZnS does not precipitate when H25 is passed in acidic solution of Zn(ll)

while CdS does.

viii) SF6 is very resistant to chemical attack.

2. Give two methods for the preparation of metal carbonyls and then draw the
molecular orbital diagrams to show the bonding in these compounds.(5 Marks)

3. Give the nomenclature of the following compounds: (6 Marks)

lco(NHa)+Cl2l*, [Ag(CN)z]', ICr(NH3)3C13]

4, Give only one method for prepa'ring the following compounds and then draw

their chemical structures: i) the industrial preparation of hydrogen peroxide .

ii) quantitative preparation of 82H6, lii) chromyl chloride iv) pure Mn metal

(8 Marks)

5. Complete the following equations: (16 Marks)

2MA2 + 2H2O ---+

2H2S +SO2 --+

SO2 + PCl5 --)

XeF6 + 3H2O--+

TiCla + 2H2O --+

cu2* + 2l---+

2Mn3* + 2H2O -+
Cr2O72' + 6i- +14 H* --)

. -- _E-a

Good Luck

Examinar: Prof. Dr. Aref A. M. Aly
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Time allowed: 3 hours

Final exam in 210 C course for seconcl level's students

Part I(Reaction Mechaniqnq):
Ansrvgr .the following questions:

(25 marks)

1.A. C-hoosp..flre correct answer.for the followins questions: ..... (5 marks)
1) Which of the following statements regarding the E2 mechanism is wrong?

a- Reactions by the E2 mechanism are generally second order
b- Reactions by the E2 mechanisrn usually occur in one step
c- Il.eactions by the E2 mechanism usually occur in two steps.
d- Il.eactions by the E2 mechanism are always bimolecular.

2) Which of the following is not nucleophile:
a- CH3CH2CHT , b- CHr:611CH: , c- CH;CHzSH ) d- cII3oH

3) Which of the following compound is classified as allylic halide:
a. l'>hCH:CBTCIIs , b. PhCII:CII-CHzBr , c. PhCBI:CHCHT

4) Methyl bromid reacts with CH3CH2ONa / CH3CH2OH via :

a- Ssl mechanisme , b- El ruechanisme , c- SN2 mechanisme , d- E2 mechanismc
5) Based on Saytzeffs rule, select the most stable alkene :

a- l-Methyl cyclohexene ! c- 3-Methyl cyclohexene I
b- 4-Methyl cyclohexene , d-They are all of equall stabilify

B. Nlarh F-ivg ONLY 1r/i or (X) for the following sentences antl then correct the rvrong one:...........(5 marks)
1) Crowding at thc carbon that bears the leavirrg group slows the rate of bimolecular nucleophilic

substilution.
2) Hyclrolysis of Vinyl bromide give vinyl alcohol.
3) CBr2=C(Ctr{r)z can exist as cis and trans isomers.
a) Elcb reaction takes place through carbocation intermediate .

5) SN1 reactions go faster with DMF as solvents.
6) Isolation ancl chemical trapping are used to determine intermediates.

2"A. Draw the equation , reactiori mechanism with showing the selectivity, the energy diagrarn and type of the
(10 marks)

2- HBr with 2-methylpropene.
3- t.Butyl bromid with C2H5OH/H2O.
4- Propyl cholorid with t.BuO*K'/t.BuOH/60'C.

B. Answer FIVE ONl-Y__qtlLhB-tollqlviug: ........... (5 marks)
l) Draw all resonance structures of CH3CI{:CHCHO .Bxplaine your answer using curved arro}vs.
2) Ilank the following suhstances in order of their expected SN1 reactivity (explain your ansrver):

reaction f,or;
1- 2-Iodo pentane rvith sodium sulfide in DMSO .

4' < NaStl'
rL tI DMSO

,/\r/ ./\
HS

s

(":H.rilH;.llr

Ftrr
1

{;H3ct]{:H:1

3) What is meaning with intermediates?
4) What is the hyperconjugation ?

5) Why Sp1 mechanism is non-stereospecific while Sry2 mechanism stereospecific.
6) Explain when the reaction proceecling Elcb and not proceeding accorrling El.

TI

U,
i

H;fl,",CHllHCH3 H2*::CHBr

lt
\

l1{it$i{it iiit .:!lIi iiij
, il.r.ltr Jgjl



Part 2 (Carbonvl Comrrounds):

Answer the following questions

Ouqstion No.3:
AlWhich of the following is true for ethyl acetate ?

1) This compound is classified as carboxylic acirl

2) Reduction with LiAII{,r alforded ethanol

3) There is NO reaction witlt amines

4) An excess of CH3MgBr/ ether reacts to give t-irutanol"

5) It can renct with another molecule of ethyl acetate in presence

IJ) Explain b,v equations TWO OJ\{LLof the following reactions and

products artd name of t'e reactinn 
(i) ,,toNa

l- HCOOC2H5 + CH3COOC2H< -fr '!

Z- Plr3P=Ctl-CH2-CH3 + CII3COCH3 ?+'!

the following
1) Cyclohexane carboxYlic acid

Ouestion No.4:

2) 2-pentanone

A) Complete FIIYE ON{.Y of the following equations:

1- 2- Butenal + 1'3- Butadiene 

- 

?

2- CH2(CN)2

+
, C2I{5OFI/H e

3- PnCH,COoH- s9!!:* ? 
-NH' 

*
ll12/ NaOH

(cr-tl)2-c=c(cH3)2 - 
(i) o,-*-* 

?

(ii) Znl H20

,r---.,-o" PDC/cH2cl2 , - 
jI{"* ,

3- PhcocH3 + ,r, J1t'o1-- ? * ?

(ii) HrO

C) Starting rvith ethyl aceloacclate or diethylrUrrlona.Ig, shorv lry equations

(25 marks)

(5 Marks)

of EtONa through Aldol condensation'

then discuss the mechanism, name the

(4 Marks)

how to synthesize TWO ONLY of
(4 ilfarks)

3) Acetyl cYcloPentane

(5 Nlarks)

(3 Marks)

, iti ltr Jlrl

+
H / H.C)

4-

5-

6-

B) Show

N.aOtl
cHrcHo + PhcHO

reagents, contlitiorts and products to tlring about each equations:

RCH2CN

t)

/

RCH2I!1gX

I'r
| --. Cl,i PCh
I\

lcHrN, \'.
| 

-- \f
I

e

d/

t:
\,

ILcH2cH20tl



C) Write the IUPAC narne of TlY0 'QNLY of the following (2 Marks)

l) 4?'\*.-'\-*--olt
Ii

a ll-_o ll__

D) The follorving reaction scheme is describing nlmine Formation, show the flow of electrqns bY using arro$
(2 Marks)in this scheme.

3H+
R-C-cHz-R' :------- | .i-'

| *.[-.r,-*

+
H-o-H

| " .,"P""
R_-c-N\

I '*"
cH2R'

1l

il

lI

cI.j l$ uJAiJ.r

GOOD LUCK

& rr*., a*e i .l.i & q* Jl .rp .+*i .l.i & jtX r^r.,J.ltc ..t.i :o*il:^.dl


